gyl Aledud) Jgla

:JsY) Cpatll
2 (Vn2) saaad) 48 )61 e dassl) Qles -
Va2=Val (@)l )40
Vn2=Vn](1-ilnl) / (1-i2n2)
N1=26+10=36/360, n2= 26+19=45/360
Vn2=39800/0.99375= 40050.31
gall) Cpal
:(Vn3) a0 43,51 dpacy) Al Glaa—
Val+Va4+Va5= Val+Va2 (il (4
Vn5= (vnl(1-in1)+vn2(1-in2))—-(vn3(1-in3)+vn4(1-in4))/(1-in4)
N1= 1+30+6=37/360, n2= 1+30+31+19=81/360, n3= 1+30+31+31+5= 98/360, n4=103/360, n5=124/360
Vn5=2600.575/0.97588= 2664.85 da
P GIU) pa patl
sBaal) 48 )6l (laatal Ayl alag)
Va3=val+va2 (gl (4i8)
Vn3(1-in3)=vnl(1-n1)+vn2(1-in2)
N1= 15+34+2=48/360, n2=15+31+29=45/360
5023-4951=5301.38n3, n3= 72/301.38=0.2389 ans*360= 86 jours
2017/7/10 Foyl saaadl 48 )6l Glaaia) s 05 Cagw e

rgabl) (el
p (i) padd) Jana ala)-
Va2+va3=val (gl ;48
I=( vn2+vn3-vnl)/ (vn2*n2+vn3*n3-vn]*nl)
N1=12+7=19/360, n2=12+31+21=64/360, n3=12+31+31+14=88/360
I=261/2968.07= 0.08*100=8%



